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Answer the following questions:

A ALY el

== 1. Choose a statement of (A) or (B) ,

and write the scientific term that
express it :

(A) An erosion or non-deposition
surface that can be indicated by
the difference of the layers
slope.

(B) The plane on its both sides a
fractured rock mass moves on
its sides in a direction opposite
to the other mass.

() o (1) cuslat o] as) Y
Lgs_x\ LFAM‘ rvdhaa.d\ iS¢
: agle i
G i ade g) Ayt b

CUAL adde Jaiud of ofa

caldgdal e
LOVZIN S EPRNPVHEN
Al olat) (ule A8 jay

Choose a guestion of (A) or (B) ,
and give reason :

(A) Occurrence of rejuvenation
phenomenon of the rivers.

(B) Formation of petrified trees is
considered as a degradation and
a sedimentation action of the
underground water.
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Choose a statement of (A) or (B) . (<) of (1) cabpud sl 3

and write what would happen if : :die Siang 1l &M g«

(A) Variation of crop cultivation in A Spalaal Aoty el -
the Egyptian agricultural lands. Ay Lol 3 a3
(B) Depending on organic fertilizers . Loyl
when cultivating land. Bl (o sl -
s 3N de 4y gl

LEE 4. Choose the proper answer: rdagauall Llay) i) L4
[ |

A mineral of specific weight 19.3 o i VT el Adjg Qama
belongs to

(a) silicates

(® sulphates i ©)
@ oxides Sl @

() native elements 1) alid (3)

Explain the following: . ““!i_. Lo ud .0

There is a similarity and a difference O DAY ¢ Aglid lia
between rhyolite and granite. il Al g cuded Y




Mention one difference between:

Fluorite and apatite.
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Write a scientific definition for the
following :

(A) The Earthquake.
(B) The Biosphere.
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Draw a full labeled diagram showing
a syncline fold.
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Coral reefs are marine organisms that
grow in the form of colonies.
Scientists depended on them to
explain the geological events.

Explain the statement clarifying :

(A) What are the most important
explanations provided by scientists
based on coral reefs?

(B) What are the characteristics of the

environment in which coral reefs
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10. Choose one of the terms (A) or (B) ,
and clarify what is meant by it :

(A) The Earthquake intensity.
(B) The Earthquake magnitude.
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= 11. what is the result of : Jtha‘z\f“ | ioalas 535 £l
Presence of strong wind accompanied e;L.s.u sJ.g; w‘ﬁ
with rainfall in Sinai Peninsula. T T
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== 13 Give reasons for:
Marine food chain is characterized by
the length and multiplicity of its
trophic levels.




==' 14 Choose the proper answer:

From the fossiliferous characteristics of
the Cambrian period is the presence of ...

Ferns and the first skeletal
organisms.

Trilobites and first insects.

First mammals and first skeletal
organisms.

Trilobites and first skeletal organisms.
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== 15 Explain how you can differentiate
between two different native minerals
having the same chemical composition




== 16. Choose one topic of (A) or (B), and draw
- a full labeled diagram to illustrate it.

(A) The movement of the sand dunes.
(B) A section in delta cone.
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==' 17. Mention only one benefit or use of each
of the following :
a- A metamorphic rock from a rock
composed of a carbonate mineral.
b- A metamorphic rock formed under
pressure and temperature less than
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What are the characteristics of real
desert plants that enable them to adapt
to the desert environment?
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Choose a statement of (A) or (B) , and
write the scientific term that

expresses it:

(A) Fragmentation (breakdown) of
the rock into small pieces without
change in chemical and mineral
composition.

(B) The effect of atmosphere and
hydrosphere on the rocks of the Earth
crust where fragmentation of the rock
occurred and then fragments are
transported by natural transportation
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.8" 20. Choose a question of (A) or (B) s (1) cullsall ol sia) Ly
and give reason : A e ()

(A) V\Ilet depind on porcelain s_trea;k i) - ¢ e adies
plate not on a copper coin to C o e sl
identify the streak of most o ol G
minerals. Yoo ooledl el ase

(B) The tetragonal crystal is different Agulaill dleall e adias

from the monoclinic crystal. .
y o= gobl Bk alias

-&" 21. Choose a statement of (A) or (B) , ¢ () o (1) Gyl oal gad ¥
. and write what would happens if : ©ie Caaag ke SO

(A) Accumulation of huge amounts lo) e R RS S
of deposits produced from 0,0 acldi )l daa 4y a3 (o i
weathering of a mountain of 5.5
km high to the bottom of a sea
4000 m deep.

(B) Exposure of North Egypt region
to tight folding and intensive A g 3 Bl A 5y
faulting by law inclined faults with 35S Apils 3l )
great lateral displacements.
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Define: The physical geology.
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Choose the proper answer:

A gas used as a fuel produced by
decomposition of animal wastes

(a) Ethane
Hydrogen
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What is the importance of grazing in
regions of trees and shrubs?
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Show the behavior of the following
organisms to adapt to the mentioned
environmental conditions:

a- Jerboas towards water scarcity.

b- Planktonic crustaceans toward
ultraviolet radiation.
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LE® 26. What are the main differences - c‘ﬂdj ﬁf“_@ii\-“
. between deposits of shallow water sl ol ,Mmm w0
region and bathyal region? O Adhaie

==' 27. Explain how the hydrocarbon would be

formed and stored in the liquid and the Al (b ol g s S5 50l
gaseous state. Dsaall A4y el gl Al

Choose one of the terms (A) or (B) , S () unlkmjl\ %‘ Al YA
and clarify its meaning : A dgaiall mings ¢ ()

S e

A) Ecology.
(A) Ecology o

(B) Ecosystem.
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==' 29.  Explain the following : el i Lﬁ;ﬁ\ )
Without old volcanoes, life wouldn’t Bl =B Lo Ay ; S Y b

have been existed on Earth. s Yl mha e

wm 30. What are the results of the overuse of o Al gl Le Y
L Glanall aladiul 8 Lol @Y

pesticides and fungicides in agriculture? Se) 5 3l b A yhadlly 4 ydal
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In spite of the presence of an ice
layer above some northern seas, the
marine organisms never die below
ice. Explain this.




Write the scientific term that JIal) ) cfhia-d\ s vy
A5y 3 jlad) o
sl M el Ay oly Alypcad
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indicates the following statement:
A crystal system which is
characterized by three unequal axes
and equal angels between these axes.

8" 33. How would the magma cause the S Laalall uw aS ¥y
formation of tectonic structures below s s ‘HU'*S'*Q‘.—HS‘;)*
the Earth surface? oY)
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==' 34. Choose to answer one of (A) or (B): 2 sl (|
(A) There are economic deposits in Bedaa | )sigden dilaia & jelai- |

and Thura area.
1- What is the name of these deposits? , .
And in which period did they spread? Gt § sl ot il L)
2- What are the conditions that led to the §& 80 pac
formation of these deposits? Cr eSS el ) Cag ylall LY
(B) Explain that: Changing the
environmental conditions in the e e e
glacial period caused the welfare and s R ks 10) S g -

luxury of humanity.
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Draw a diagram showing the relation O ABlall eaim 5y DS s ) Yo
between matter, energy and living alai i eLal) 5 il 5 3alal)
organisms in an ecosystem consisting  dai il sl (e (S S
of only four trophic levels.




Explain how the two kinds of caves
are formed by the external factors.
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" Choose a statement of (A) or (B) .

and write the scientific term that

indicates it:

(A) A fracture in different rock masses
followed by a movement of the
hanging wall downward relative to
the foot wall rocks.

(B) A fracture in the different rock
masses where the fault plane is
almost horizontal.
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Give reasons for:
Quartz colour changes to greyish
smoky colour .
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a=" 39. What is the result of:
Exposure of the cotton plant stem to O e poall phill Sl Gl U"J""
light from one of its sides. a2l

S=® 40. Show how would the building JSaell 0585 S =iy £
. structure of crystal for halite mineral feullel) ana 35500 Sl
be formed?
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Choose the proper answer:

Crustaceans are present in two levels
in the marine trophic levels which are

(a) The first and the second (D
The second and the third e, e (O)
o
O

(o) The first and the third A, J840

(® The second and the fourth a1 5 Al




sm 42. What is meant by humus? And where
. could it be found profusely?

o6 JLall 2 geaial Lo €Y

=m 43. Choose to explain one statement of
[ |

(A) or (B):

(A) The shape of the river section
differs depending on the difference
of its age stage. Show the shape of
the river section in its different
stages and the most important
shapes produced from the river
action in depositional stage.

The shape of the river sector is
affected by the climate of the
region in which the river passes.
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What are the main differences between
quartzite and mica schist?
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Study well the map in front of you and
write labels from 1 to 4
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